
NOMENCLATURE
PAGE 1

MODELE. BO4561

REPERECODE DESIGNATION QTE NOTE
001 643552-4 PORTE-CHARBON CB13   2
002 191627-8 JEU DE CHARBON CB-64   1
003 211021-9 ROULEMENT A BILLES 607LLB NTN   1
004 517083-8 INDUIT BO4553   1

INC. 3,7,8
005 182777-0 JEU DE CARCASSE BO4553/4563   1

INC. 22
006 599319-7 INDUCTEUR BO4553   1
007 253214-2 RONDELLE SPEC 9   1
008 211092-6 ROULEMENT A BILLES 629DDW   1
009 858238-9   1
010 241658-8 VENTILATEUR 63   1
011 213051-6 JOINT-ETANCHE 6210-10   1
012 211066-7 ROULEMENT A BILLES 6200LLB   1
013 410752-9 CARTER VENTIL   1
014 265871-4 VIS  M4X16   2
015 410918-1 SUPPORT   2
016 911118-1 VIS TETE RONDE M4X12   4
017 152478-4 BASE BO4561   1

INC. 20
018 912117-6 VIS TETE FRAISEE M4x12   1
019 253825-3 RONDELLE PLATE 6   1
020 262512-3 DOUILLE CAOUT 48   1
021 651527-9 INTERRUPTEUR   1
022 182777-0 JEU DE CARCASSE BO4553/4563   1

INC. 5
023 265872-2 VIS  4X50   2
024 265875-6 VIS 4X25   1
025 265876-4 VIS TETE RONDE M4X40   1
026 265995-6 VIS 4X18   2
027 687063-9 BARRETTE DE FIXATION   1
028 682502-4 MANCHON DE CABLE 8-85   1
029 666053-5   1
030 645142-9 CONDENSATEUR ANTIPARASITES   1
031 166027-1 SAC A POUSSIERE   BO4553   1
032 654532-5 DOMINO   1
A01 192352-4   1
A02 192655-6   1
A03 193712-3 SAC A POUSSIERE PAPIER(5PCS)   1
A04 193932-9 SUPPORT PR SAC(193712-3)   1
A05 193745-8 ADAPTATEUR   1



VUES ECLATEES
PAGE 1

MODELE. BO4561


